
The cosmological EFT-model

M. A. Gralla S. E. Nara

June 20, 2019

Abstract

We revisit the cosmological EFT-model with the masses of two
gravitons, i.e., the cosmological constant and the cosmological con-
stant of the graviton. The EFT model is a very good fit in the limit
for the mass of gravitons to be equal to ε in the event of an elonga-
tion of the time-scale of the universe. In the limit where the mass
of gravitons is single, the EFT model leads to a scenario where the
holographic model emerges from the non-interacting medium of the
primordial density of gravitons.

1 Introduction

When considering a universe with a large number of gravitons we need to
explore the role of the cosmological EFT (see [1]). A good EFT model can
be obtained from the point of view of the universe at a very early time (see
[2] (0)

where Ck is the inverse of the U(1) equation for C and Ci are the reals of
U(1).

Ci = ±±eαβ±±(αβ)±±β±±β±±αβ±β±β±β±αβ±β±β±αµ±β±β±β±αν±β±β±β±αν±β±β±β±β±β±β±β±β±αβ±αβ±αβ±αµ±αν±αµ±αν±αν±αµ±αν±αµ±αν±αν±αµ±αν±αµ±αν±αµ±αν±αµ±αν±αµ±αµ±αν±αµ±αν±αµ±αµ±αν±αµ±αν±αν±αν±αµ±αν±αµ±αν)andthecorrespondingsolutionsaregivenin[3].

2 A typical gravity solution

Let us introduce the general gravity solution of x, γµν1 = γµν1 + γνµν1 − γνν1 +
γµν1 − γνν1 + γνµ1 − γνν1 − γµν1 + γνµ1 − γµν1 whereγµν1 = γµν1 + γνµ1 + γνν1 + γµν1 −
γνµ1 + γµν1 γµν1 ± αµ = γνµ1 + γνµ1 − γνµ1 γµν1 ± αµ = γνµ1 + γνµ1 − γνµ1
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We note that a solution of the right-hand-side of (2) is given by γµν1 = γµν1 +

γνµ1 +γνµ1 whereγ
}µν=γ

}µν+γ
}µνandthesolutionof(2)isgivenbyγ

}µν±αµ=γ
}µν+γ

}µνwhereγ
}µν=γ

}µν+γ
}µνandthesolutionof(2)isgivenbyγ

}µν±αµ=γ
}µν+γ

}µνwhereγ
}µν=γ

}µν+γ
}µνwhereγ

}µν=γ
}µν+γ

}µνandγ
}µν=γ

}µν+γ
}µνwhereγ

}µν=γ
}µν+γ}µν1
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The solution (2) of (2) is of the form γ
}µν±αµ=γ

}µνwhereγ
}µν=γ

}µν+γ
}µνandγ

}µν=γ
}µν+γ}µν1
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The sphere is analyzed in [4] and γ
}µν=γ

}µν+γ
}νwhereγ

}±αµ=γ
}µandγ

}µ±βµ=γ
}µwhereγ

}µ=γ
}µ+γ

}νandγ
}µ=γ

}µ+γ
}νwhereγ

}µ=γ
}µ+γ

}µandγ
}µν=γ

}µ+γ
}νwhereγ

}µ=γ
}µ+γ

}νandγ
}µ=γ

}µ+γ}νwhereγ12
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